[ —— S ———— | — S ———
LINER
PANEL
SEAM DIMENSION
VARIES

2=

N
<

I R N

TWO CROWN AND ONE

VALLEY OVERLAP

BACK VIEW

SCALE:3"=]"~

OII

|

>

DIMENSION

VARIES

DIMENSION

[2= vARIES

i

¢ —
SUBGIRT

DIMENSION
VARIES

P

|

¢
SUBGIRT

DIMENSION
VARIES

SUBGIRT

¢

L

434" TYPICAL

| .

5 ]/8 "

SIDE VIEW

SCALE:3;"=1'-0"

SIDELAP
SCREWS
AT 6 EQUAL
SPACES

SIDELAP
SCREWS
AT 6 EQUAL
SPACES

SIDEL AP
SCREWS
AT 6 EQUAL
SPACES

[ ]

DIMENSION

VARIES
z=

FRONT VIEW
SCALE: 3"=1"-0"

FIELD MEASUREMENTS PRIOR TO PANEL FABRICATION.
TYPICAL REQUIREMENTS FOR THE SIDING ATTACHMENTS
AND OVERLAPPING DIMENSIONS ARE SHOWN ON THE
SIDING JOINT SCHEDULES.

INSTALL INSULATION WITH SNUG FIT ALL AROUND
AT SUBGIRTS AND LINER PANEL SEAMS.

4. FOR SIDING PANEL INSTALLATION TO STRUCTURAL
GIRTS SEE SHEET 2.

5. SEE SPECIFICATION 79K36159 FOR SIDING
REQUIREMENTS.

6. RIGHT HAND PANEL DETAILS LEFT HAND LAPS TO LEFT.

® e 066 ®6 6

1 9" 6” 3” 0 |
SRR

TN I T
I 1/2 IN = | FT

19'6'3"0 l 2 3
T T ]

— THIS COMPUTER DRAWING WAS
/4 IN=1FT CREATED IN MICROSTATION AND

FILED UNDER THE DRAWING NUMBER

OTHER JOINTS.

ADHESIVE TAP

ADHESIVE TAPE, 2" WIDE, CLOSED CELL POLYETHYLENE., WHITE, 63 MILS

THICK.,
McMASTER CARR #7598A58.

SELF-TAPPING SCREW
SCREW, #8x1/2", Slé’_tﬂ'_

STAINLESS STEEL.,

RETAINING NUT
RETAINING NUT,

POINT,
PHILLIPS HEAD.,

TEMPERATURE RANGE -20 TO +158 DEGREES F.

SELF DRILLING,

EQUAL TO

SELF-TAPPING, 18-8

COUNTERSUNK TYPE.

3/8" BOLT DIAMETERs, NYLON MATERIAL.,

SPECIAL SHAPED

CENTER FOR GRIPPING SHANK AND SCREW THREADS. 1/16" THICK. EQUAL
TO McMASTER CARR #91755A117.

SELF-TAPPING SCREW
SCREW, 1/4"x5/8", SPLIT POI

OR TYPE 305,

BEVELED WASHER
BEVELED WASHER,

GALVANIZED TO ASTM A153, GS

PLAIN WASHER
PLAIN WASHER,
STAINLESS STEEL.,

NT»

0.

SELF-DRILLING,
HEX FLANGE HEAD WITH TEFLON WASHER.

3/8” BOLT DIAMETER, ANSI B18.23.1. TYPE B,

3/8" STANDARD “W"” SIZE, 0.083” THICKNESS,
PER ANSI 18.22.1.

SELF-TAPPING,

TYPE 304

e y
INSULATING WASHER SLEEVE, TEFLON MATERIAL, WITH INTEGRAL FLAT

HEAD WASHER AND TUBE SHANK, 0.379" ID x 0.419" OD x 1
3/8" BOLTS AND 0.252" ID x 0.292" 0D x 1
EQUAL TO NYLTITE CORP., S. PLAINFIELD,

INSULATING WASHER
INSULATING WASHER,

1/2" LONG
NJ.

1/2" LONG FOR
FOR 1/4" BOLTS,

TEFLON MATERIAL, 0.260" ID x 0.545" 0D

X 0.260" THICK, FOR 1/4" x 5/8" LONG SELF-TAPPING SCREW.

SEALANT TAPE

BUTYL SEALANT TAPE. 1/8" THICK X

1/2" WIDE, 100% SOLID PREFDRMED“ .

SYNTHETIC POLYMER BASED ADHESIVE COMPLYING WITH AAMA 804.1, 806.1,

AND 807.3 WITH REMOVABLE BACKING,
—60 TO +212 DEGREES F EQUAL TO MOREAU POLYSUL TAPE.,
NC 27127 (336) 764-5232.

WINSTON SALEM,

COLOR GRAY,

TEMPERATURE RANGE -

MOREAU CO.,

TYPE 304

8 7 6 | 5 ¥ | 3 | z 1 1
e e e - ' -3" - T e
e T . 2! 754" ; o . O ~ SEE DETAIL @
¢ STANDING ¢ ¢ STANDING ¢ ¢ STANDING
SEAM SEAM | ~ SEAM ALUMINUM V-BEAM PANEL, ALLOY 3004-H36, PER ASTM B209, 0.032
/1B /" 2 —1Y¢" i Y Ny INCH THICK (EXCEPT 0.40 INCH THICK FIRST 20 FEET ABOVE GROUND LEVEL).,
o, T 2" — - C 2 WITH PROFILE DIMENSIONS AS SHOWN ON THE DRAWINGS, STUCCO FINISH,
@—\ | WITH FACTORY APPLIED PVDF (KYNAR) COATING, 2 MILS DFT, ON EACH SIDE.
| | LINER PANEL
@\ AM ;[ 1/ A @ LINER PANEL., 20 GAUGE THICKNESS., CARBON STEEL, PER ASTM A653, GRADE
BEAN 33, FLAT SURFACE, 1 1/4 INCHES HIGH RAISED INTERLOCKING SEAM,
£, - GIR 5_\’ 2 HOT DIPPED GALVANIZED PER ASTM A 653, G165.
L f ~—— STRUCTURAL GIRT (3) INsuLATION
f VARIES B SEE SCHEDULE —— INSUCATION, 1 1/2 INCHES THICK, SEMI-RIGID MINERAL FIBER, CONFORMING
VARIES | | : ~ TO ASTM C612, TYPE 1A, CLASS A, WITHOUT FACING, WITH DENSITY NOT
; 2 8 GREATER THAN 3.0 POUNDS PER CUBIC FOOT AND THERMAL CONDUCTIVITY
/TR - (K) NOT GREATER THAN 0.26 BTU IN/HR FT2 DEGREE F AT MEAN TEMPERATURE
| OF 75 DEGREE F. INSTALL WITH SNUG FIT ALL AROUND.
\2/ 2" | 8 P (3) sus cieT
4 " " "
N\ /@ — SUB GIRTSs 1 1/2” x1 1/2” x 0.083"” WALL, CARBON STEEL. CONFORMING TO
@_/ | | ] ASTM A513, HOT DIPPED GALVANIZED PER ASTM A123, GRADE 45.
] ' o o !
—— \/\m | \ | / (5) SIDE LAP SCReM
< A ANE NI 7 B T o LB SR, B o e
DETAIL 1 DETAIL (2 2.33" N . | ;//“ﬁ\\““/CD ' ’ ’ ‘
- = | SELF-TAPPING SCREW
NO SCALE N NO SCALE NG 1 | | 6% ' SCREW, SELF-TAPPING, 1/4”x14x3” LONG, PER ANSI B18.6.4, HEX FLANGE
O | TYPLCAL HEAD, BLUNT TIP, UNF THREADS, 1 1/2” LONG THREADS, TYPE
3 ! @0 I 19) SEALANT ¢ 304 OR TYPE 305, EQUAL TO HILTI HH304SS BPTW. INSTALL IN 0.228"
5 e s 3 | . TAPE o PREDRILLED HOLE USING STICK WAX TO PREVENT BINDING.
¢ STANDING ¢ STANDING ¢ STANDING - - e - 1" =322 -
SEAM £ SEAM t SEAM ALANT( g HEX ELANGE HEAD BOLT "
. . - L e TAPE 2 15" | HEX FLANGE HEAD BOLT. 3/8“x3 1/2" LONG, PER ANSI B18.2.1, ASTM F593,
~ 2'-1% - 6 - TYPE 304 OR TYPE 305, CONDITION A, UNC CLASS 2A THREADS.
| | | NET COVERAGE NET COVERAGE
T %paces SPACES SECTID;N” ; m (6X9) (6 1vpicaL e COCKNOTS, 3/8” HEX HEAD. ASTM F594. TYPE 304 OR TYPE 305, UNC CLASS
| | SCALE: 1Y/z"=1"-0"\_~_/ \_3 / SUBGIRTS 2A THREADS, WITH NYLON INSERTS.
' * DIMENSION VARIES [2—> 3 (2) INSULATING WASHER ) ) )
Sy . INSUCATING WASHER, 1 1/8” OD x 7/16” ID FOR 3/8” HEX FLANGE HEAD BOLTS
| 1 e R PN ZERU RS HOLES: 8,0 180 0157 I 4 AT e S0t A e
‘ ¢———H" o 2 ST 1. SEE SPECIFICATION 16065 FOR BONDING AND : .
SJL“*~\-\\- SUBGIRT \. [//"[~\\\ \\\\ \\\\ "‘\\\‘*~_<::::> GROUNDING REQUIREMENTS. EQUAL TO PHOENIX SPECIALTY MFG. 1—-800-378-3884.
@ h NN THE SUB-GIRT SPACING AND PANEL LENGTHS SEALANT
(TYP 24 NN JRut s com SN o e e A SEALANT, BUTYL RUBBER SEALANT, SINGLE COMPONENT, A NON-DRYING,

HOT DIPPED

SYM | ZONE

DESCRIPTION

DATE

APPROVAL

REVISIONS

RSH

Architectural, Engineering, Planning and Environmental Services

Reynolds, Smith and Hills, inc.
2235 N. Courtenay Parlway, Sults C
Merritt lsland, Florida 329534101
{321) 453-0212

JOHN F. KENNEDY SPACE CENTER, NASA
KENNEDY SPACE CENTER, FLORIDA

NATIONAL AERONAUTICS AND SPACE ADMINISTRATION

SIGNATURES DATE

BEL 10-3-03

JTH 10-3-03

JAW/JCK 10-3~03
= Y,

ROVED
ROVED
PROVED

LAUNCH

COMPLEX 39

VEHICLE ASSEMBLY BUILDING

VAB

INSTALLATION DETAILS

SIDING

=

APPROVED

TFILE NO.

APPROVED

302-3354-004

SIZE

F

79K 36086

REV

e,

l I;Tﬁt':'ﬁovsn

]0-%-07]bros no_ 97950

SHEET | OF

4

KSC FORM 1-11 (REV. %/76) (C/G 3/93)

8

3

e

1




M
M
) ! SEALANT TAPE CONTINUOUS
0. - 1l - 19) HORIZONTAL (TYP) BETWEEN
V-BEAM SHEETS
_———\/\"“ |
| v | 35" OVERLAP
Qw ] I
ADHESIVE TAPE (TYP) / S — P
(0 -~ L — DETAIL: LINER SEAM /T/TAYVTB
oS SCALE: 12"=|'-0" NN
} <O
as
S
= 0
CONTINUOUS SUB GIRT WITH I =
ADHESIVE TAPE BETWEEN ALUMINUM t \ , P
SIDING & SUBGIRT FAYING I < SJo L g A
SURFACE (TYP) @ ® @%’ -
i\’.
o ]D}‘\\i{
0 270 - NOTCH ALL RIBS
STRUCTURAL > P TO CLEAR WASHERS (TYP)
fo GIRT M
—
” *‘
o J ;:g P NOTES:
o ol [T FOR STRUCTURAL GIRT IDENTIFICATION AND CONNECTION
0 J DETAILS SEE “SCHEDULE FOR NON-OVERLAP CONNECTIONS”
I —~— ON SHEET 4.
> . 2 FOR STRUCTURAL GIRT IDENTIFICATION AND CONNECTION
o ol g DETAIL: TYP. QVERLAPPING = DETAILS SEE "SCHEDULE FOR OVERLAPPING HORIZONTAL
> /ﬁ HORIZONTAL JOINT=WITH NOTCH /5 JOINTS® ON SHEET 4.
o ! /ﬁ"”" SCALE: 3= |'-0" NG
o~ ] /
L /,_.._,/\-—j lo /%
/"“‘\P""/ /...-,[»—-j e
L - m n
j / ,_..\/\-—-——
/——*f“""/ P o
0
s J
L e ® ———’\/\—’_
/--—-\I“"“/E le
S .
j 0 0 — M
P i@
o y 354" OVERLAP
AN
A - —
i . (2) E: - - N SEALANT TAPE CONTINUOUS
4 S _ HORIZONTAL (TYP) BETWEEN
A 'E: “ V-BEAM SHEETS
o < i
1t . o I —
6 (3 = , &
STRUCTURAL GIRT (TYP) L | M S /
S
°‘°>§ E“‘
lO‘ 0> L \\ }: - /,_..--—-—-‘—““"‘“/
M \\\ oS
| <
\ Lo \ \ (3 #
‘:ki/ o \ \ CONTINUOUS oS ) -
\ \ \ \ SUB GIRT FOR S - T
R I A g 5~ 3!/4" PANEL =
\\ N\ (TYP) Q
14 u .
\ | \ . S =
!\ p \ 0\ \’ :g:? / /""\/\—’——
lo » \ \ ' ' Iy
/ \ \ 2= go
¥
1 <
\ \@ = I
N
] a®
/\ @ >
L e
:: / SYM | ZONE DESCRIPTION DATE APPROVAL
oS M REVISIONS
L (
v O Reynolds, Smith and Hiis, Inc.
O R sm 2235 N, Courtenay Parkway, Sulte C
W= —~O Merritt Istand, Florida 32063-4101
r | ® (321)453-0212
/""‘\/\" Architectural, Engineering, Planning and Environmental Services
. SIGNATURES DATE_| NATIONAL AERONAUTICS AND SPACE ADMINISTRATION
DETAIL: TYPICAL OVERLAPPING /\ F-ESIGNEI'J BEL 10-3-03 JO[:(N F. 'é%by‘%%?(') 2?&% ggugnggﬁ\SA
_ HORIZONTAL JOINT-WITHOUT NOTCH /4 GRATN JTH 10-3-03 =i ’
STANDARD V-BEAM INSULATED PANEL ASSEMBLY E ST <, LHECKED S A UNCH COMPLEX 39
SCALE: 1" = 1'-0" P3T= i VEHICLE ASSEMBLY BUILDING
) &zm; [0-3-03
0 3" g 9" : e VAB SIDING
IAPPROVED
3IN=1FT [FrPRoveD INSTALLATION DETAILS -2
lAPPROVED
0 L 2” 3" THIS COMPUTER DRAWING WAS {\PPROVED JFiE NO. size |DWG.NO. 79K36O 86 REV
2 IN = | FT CREATED IN MICROSTATION AND PROVED 302-3354-004 | F
FILED UNDER THE DRAWING NUMBER 2 FROEZ 2= | 20 omos 097950 e 2 o 4
KSC FORM 1-11 (REV, 376) (C/G 3/63) 7 5 ‘ 4 3 2 l 1 -




8 7

NOTICE — WHEN GOVERNMENT DRAWINGS, SPECIFICATIONS, OR OTHER DATA ARE USED
FOR ANY PURPOSE OTHER THAN IN CONNECTION WITH A DEFINITELY RELATED GOVERN-
MENT PROCUREMENT OPERATION, THE UNITED STATES GOVERNMENT THERERY INCURS
NO RESPONSIBILITY NOR ANY OBLIGATION WHATSOEVER; AND THE FACT THAT THE
GOVERNMENT MAY HAVE FORMULATED, FURNISHED, OR IN ANY WAY SUPPLIED THE SAID
DRAWINGS, SPECIFICATIONS OR ANY OTHER DATA IS NOT TO BE REGARDED BY IMPLICA-
TION OR OTHERWISE IN ANY MANNER LICENSING THE HOLDER OR ANY OTHER PERSONS
OR CORPORATION, OR CONVEYING ANY RIGHTS OR PERMISSION TO MANUFACTURE, USE,
OR SELL ANY PATENTED INVENTION THAT IN ANY WAY BE RELATED THERETO.

TYPICAL LINER CONNECTION
JOINT FOR INSULATION BACK
PANELS SEE SHEET 2

O,

sus GIRT (4)

NOTCH SEAM FOR
CONTINUGUS SUB GIRT

ISOMETRIC OF CONTINUOUS SUB GIRT / LINER SEAM

DETAIL 73N
SCALE: NONE w

174" DIA x 5/8" LONG
SELF TAPPING,
HEX FLANGE HEAD SCREW

WITH TEFLON WASHER

‘ | 1/8 “ OD x 5/16 “ ID WASHER WITH
BONDED TEFLON ON ONE SIDE @
— N
| ALUMINUM V-BEAM SIDING
(1) TapE ——\“—_—F—L‘—"‘ /—SUBG!RT®

v
%
g
/
%
)

SOOI AN N

\ TP 7 77

N\

APPLY ADHESIVE TAPE
TO SUB GIRT TOP SURFACE Ny

¢ SYMM ABOUT

378" DIA x 3 1/2" LONG
HEX FLANGE HEAD BOLT

|

¢ SYMM ABOUT SYMM ABOUT
- 6.333"

|

TEFLON INSULATING
2.90" ! WASHER & SLEEVE,
0.379” ID x 0.419" @D

| 1/8” 0D x 7/16” ID WASHER WITH
[ BONDED TEFLON ON ONE smE@
—

) ALUMINUM V-BEAM SIDING
7/16" DIA——f—te
B /——TAPE @

ALUMINUM “V” BEAM — DETAIL m SUBGIRT
SeALEs 127l o N : INSULATION@

= RETAINING NUT @

l.45"

0.032" OR 0.040"

_ J STRUCTURAL GIRT
/ e ey /

() uner paneL— V27777777 WW%A

5/16" DIA—=f—t= :

/—-TAPE (N

1%

3” LONG

SELF TAPPING

HEX FLANGE HEAD SCREW

BEERAY
/—:/4 “ DIA X

TEFLON INSULATING
WASHER & SLEEVE.,
0.252" ID x 0.292" 0D

| 1/8 “ OD x 5/16 “ ID WASHER WITH
BONDED TEFLON ON ONE SIDE

ALUMINUM V-BEAM SIDING

L \
\ \
& AN i NN /
T A V7777770

378" DIA LOCKNUT 0.228" PILOT HOLE FOR __/
WASHER (FOR CHANNEL SELF-TAPPING SCREW

USE BEVELED WASHER)

©

EXPLODED VIEW

(f‘\ SYMM ABOUT
6.333" "1

i

| CONTINUGUS
| VERTICAL
SEALER

|

@ INSULATION

378" DIA x 3 /2" LONG
. HEX FLANGE HEAD BOLT

INTEGRAL TEFLON

I-1/8" OD WASHER WITH
BONDED INSULATOR

AND SLEEVE @

T\ "\ I

<>(+/..) | 1/2 " @ LINER PANEL
LONG SLEEVE

|

IR R

ALUMINUM ALLOY SIDE LAP
SCREW #12 x 14 x 5/8" LONG.,
HEX FLANGE HEAD, WITH

NN

.

@ SUBGIRT——"

INSULATING  WASHER @ SUBGIRT—"]

STRUCTURAL GIRT

EXPLODED VIEW

ALUMINUM /4" DIA SELF-TAPPING,

/SlDlNG @ ' HEX FLANGE HEAD SCREW

|-1/8" OD WASHER WITH
BONDED INSULATOR

———— |

NN

N\ R

i =

INTEGRAL TEFLON
INSULATING WASHER

AND SLEEVE @
|

M\,

(+/=)

|

I 172"

LONG SLEEVE

|

=

=

777777,

W 7777

oo

STRUCTURAL GIRT

DETAIL: BOLT ASSEMBLY /6

SCALE: 12”=1'-0" 4
DETAIL: SCREW ASSEMBLY  /8) "yl | e AT —Tiner PaneL(2) \2/
<3 > SCALE: 12"=1"-0" | o= Wl — SR
W/ B/ /e e/ ea N S Z AW T 7
@RET AINING. NUT STRUCTURAL GIRT
STRUCTURAL GIRT @ BEVELED WASHER AT CHANNEL
7/16 ” DIA HOLE IN SUBGIRT AND
EXPLODED VIEW PLAIN WASHER AT WF STRUCTURAL GIRT FOR BOLT
|1-1/8"
OD WASHER WITH /4 " x 5/8 " LONG SELF-TAPPING
BONDED INSULATOR SCREW W/ TEFLON WASHER DETAIL: BOLT ASSEMBLY /2
3/8 " DlA LOCKNUT SCALE: t2”=ll__0lf W
6 L ‘NSULAT'ON@ SYM | ZONE DESCRIPTION DATE APPROVAL
2 REVISIONS
g INER PANEL @ Reynolds, Smith and Hills, Inc.
L/ R GH 2235 N. Courtenay Parkway, Suite C
@ SUBGIRT—" ¢ ~ R m&&:&ms&wm
== — . e Architectural, Engineering, Planning and Environmental Services
N/ B/ /B e/ /e SIGNATURES DATE | NATIONAL AERONAUTICS AND SPACE ADMINISTRATION
ESIGNED BEL 10-3-03 | JOHN F. KENNEDY SPACE CENTER, NASA
STRUCTURAL GIRT BRAWN T 30 1 KENNEDY SPACE CENTER, FLORIDA
LAUNCH COMPLEX 39
JAWICK | 10-5-03 VEHICLE ASSEMBLY BUILDING
Y 1/0-3-03
DETAIL: SCREW ASSEMBLY/ 7\ e VAB SIDING
SCALE: 12"=|'-0" N " " " JAPPROVED INSTALLATION DETAILS -3
0 l 2 3 APPROVED
e — e —
12 IN =1 FT THIS COMPUTER DRAWING WAS _[erRove [TEo size [OWS.NO. REV
CREATED IN MICROSTATION AND PROVED ]302-3354-004 | F 19K36086
FILED UNDER THE DRAWING NUMBER 3 ooV =275 /-5 o moine._ 97950 seer 3 or 4
KSC FORM 1-11 (REV. 3/76) (C/6G 3/83) 8 7 6 5 ’ 4 3 2 ‘ 1




Wi12x27 STRUCTURAL GIRT

A |\

A/ / /
YT v e
| A1 B g ; L 3x2x1/4
4
SUB GIRT SURFACE (TYP) PP | 3l/,” BOTTOM SIDING EDGE DISTANCE | A
?y”‘—_/ \

JOINT DETAIL

(2

SCALE: 6“=|

SEALANT

I/g” OD WASHER

TOP SIDING W

¢ SUBGI

|

i

T 2]/8 “

I __oll

N

¢ STRUCTURAL GIRT

RT

[

_whzi/af'..

G SUBGIRT

- 3%" SIDING OVERLAP
NOTCH TOP SIDING 1!/>”

TO CLEAR WASHER

—

LLLLLL L L L L L

%

I LIS, g%
RRSEEEE

IY/g” OD
WASHER

BOTTOM
SIDING

NN AN NN NN N NN

L L

I

\\#”\@

SUB GIRT SURFACE (TYP) -t
%IIJ

JOINT DETAIL

(5N

SCALE: 6"=1'-0"

NG

o

SUBGIRT (4}\

~

INSULATION @

- =1 34" BOTTOM SIDING EDGE DISTANCE

T~ 5x6.7

(AS SHOWN)

/—@ 1//s” OD WASHER

LINER PANEL

INSULATING WASHER SLEEVE

BEVELED WASHER

/—@ /4" DIA SELF-TAPPING SCREW

34" DIA HEX FLANGE HEAD BOLT

S

SUBGIRT @—\

1

~

e

Y

\z%m

NN

N

/
7 Z 77
77

Yy
v

Z

a4

J
C N NN NN NN

NN AN
=

e

t

\\ STRUCTURAL

GIRT (SIZE VARIES)

\
NN NN NN

|/s” OD WASHER

LINER

PANEL

INSULATING
WASHER AND SLEEVE

8 7 6 | 5 ¥ 4 ] 3 | 2 | 1
S S o A DTN o O o e ¢ STRUCTURAL GIRT ¢ STRUCTURAL GIRT
¢ SUBGIRT = | ¢ SUBGIRT ¢ SUBGIRT ¢ SUBGIRT
E & it | I
SEALANT ~—— 2% ——2%"— T el 17
" | - 3%" SIDING OVERLAP | STAD NTAD HB HORIZONTAL DOORS HB VLD'S HB DOOR OPENINGS
TOP SIDING , || NOTCH TOP SIDING \Ve® 0D WASHER | | FLANGE | CONN. ELANGE | CONN. ELANGE FLANGE | CONN. FLANGE | CONN.
| NOTCH TOP SIDING 2" MEMBER | WIDTH | DETAIL | MEMBER | WIDTH | DETAIL | MEMBER | WDTH TAIL | MEMBER | WIDTH | DETAIL | MEMBER | WIDTH | DETALL
e , - TOP SIDING * B TO CLEAR WASHER
>§ “/3 oD , 3 3 "wpn > ¥ 3
1 WASHER \ C5x6.7 1 34 6 c5 | 3% & c5 | 34 TRUSS “A =8 7 C5x6.4 134 &
l i
g ‘ % BOTTOM ! ; ' V " oD 6!/ 7 ] I s it > g |
LM | SIDING ] 1 O W8x24 A W8x24 6 7 W8x24 A TRUSS “B”| =8 7 W8x 17 5/4 7
’/////// L L L L LA ALl A . l ; |
AANARAANAARANERNARY ] SNRURNNRNRRNNNINNNNANRAY 9 BOTTOM
| | ) ~ };@ | / SIDING ~— W27x44 10 7 W18x50 72 7 W27x 145 14 TRUSS “Cc”| =8" 7 W10x25 53 7
, | L L L L L L LKL
7 } AN T AU NN ANANANAN NN AN ANANNNNN \\\\ | | |
( 7 y/ e reaves M [j [l] W27x145| 14 7 - - - | wsoxio8 | 10% W36x230 | 16V 7 Wi2x2? | el 7
i | /// \—@ | l W24X76 9 7
, ey "
AV y | \@ g @/ \ ;
2 N2 %
%
| | A Y |
SUB GIRT SURFACE (TYP) ——=l=r=t=—F’ 3%" BOTTOM SIDING EDGE DISTANCE 2 A2
%——/ ' SUB GIRT SURFACE (TYP) N ——21/,” BOTTOM SIDING EDGE DISTANCE
;\STRUCTURAL A ‘ SCHEDULE FOR OVERLAPPING HORIZONTAL JOINTS
GIRT (SIZE VARIES) Y4
W8x 17 STRUCTURAL GIRT
JOINT DETAIL l STAD NTAD HB HORIZONTAL DQGORS HB VLD'S HB DOOR OPENINGS
SCALE: 6"=|'-0" - JOINT DETAIL /AN
SCALE: 6"=I'-0" N ELANGE | JOINT ELANGE | JOINT ELANGE | JOINT ELANGE | JOINT ELANGE | JOINT
¢ STRUCTURAL GIRT MEMBER | WIDTH | DETAIL | MEMBER | WIDTH | OETAIL | MEMBER | WIDTH | DETAIL | MEMBER | WIDTH | OETAIL | MEMBER | WIDTH | DETAIL
| ¢ BACK TO BACK W27x94 10 t C5/L3x2 3% 5 W27x94| 10 TRUSS “A”| =8" z c5/L3x2 | 3% 5
¢ SUBGIRT ¢ SUBGIRT " L3x2 & C5
| W18x50 7V, I TRUSS “B”| =8" 1 W8x 17 54 4
SEEPNVN SR P YA ¢ SUBGIRT
.SEALANT - ‘ 35" SIDING OVERLAP SEALANT , ¢ SUBGIRT RUSS “c"| > g” , W1 OX25 53 3
i V /. @ 1 | "
I//g” OD WASHER ’ ] NOTCH TOP SIDING%" /4 ! |
| -! TO CLEAR WASHER IVS” 0D WASHER ! 5 3%” SIDING OVERLAP Wizxa7t 6/2 2
TOP smmc I o
' * TO CLEAR WASHER W24x76 9 x
! i
l \g’ IY/g” 0D
| | “ | WASHER | — %" ¢ STRUCTURAL GIRT _@ s" DIA SELF-TAPPING SCREW [ © )
< & BOTTOM <_ | WASHER STANDARD (AS SHOWN) \3
| L :@; |/ SIDING < Kl BOTTOM BEAM GAGE — = -
—= | S | SIDING DIMENSION | —@ %" DIA HEX FLANGE HEAD BOLT
i % 7// g LS L Ll < |
| i N OO AR NS SN \\\\\\\ INSULATION

SYM

ZONE

DESCRIPTION

DATE APPROVAL

REVISIONS

RSH

Architectural, Engineering, Planning and Environmental Services

Reynolds, Smith and Hills, inc.
2235 N. Courtenay Parkway, Sulte C
Morritt Island, Florida 32853-4101

® (321) 4530212

| | /\ SIGNATURES DATE_| NATIONAL AERONAUTICS AND SPACE ADMINISTRATION
N coxe. 7 sTRUCTURAL GIRT— | m [ove S e s
SUB GIRT SURFACE (TYP) M\.L\ | 2%," BOTTOM SIDING EDGE DISTANCE N CONNECTION DETAIL TN TRW/ICK | 10303 LAUNCH COMPLEX 39
/ 7\\_ i T VEHICLE ASSEMBLY BUILDING
%" Qf WI0x25 STRUCTURAL GIRT SCALE: 6"=1'-0" \—/ Yyt llo-3-03 VAR SIDING
0 3”
CONNECTION DETAIL /6 INSTALLATION DETAILS —4
JOINT DETAIL /3N SCALE: 6"=I"-0" -/ 6 IN = 1FT
<CALE: 6" 0" Y, THIS COMPUTER DRAWING WAS e = T OK36086 1
CREATED IN MICROSTATION AND JrPPROVED 302-3354-004
FILED UNDER THE DRAWING NUMBER 4 o 2 22— | /52 02lmos 87950 o 4 o 4
KSC FORM 1-11 (REV. 3/76) (C/G 3/83) 8 l 7 6 5 ‘ 4 3 2 / . NO. 1




